AQA Paper 1H Practice Booklet

20 practice questions based on the advance information
Copies of this booklet, as well as hints & solutions, are available at bossmaths.com/advanceinfo

Question 1

4
Which is greater, 3 of 87 g or 14% of 800 g?

Lef 87 - 29 \% of 8D = 2— & 30 = 8
#H Q > th Y ‘DD x\y
iaoc 37 = b Wb of €50 = |\

Question 2

EN

Work out <(0.35 X 1.4)2> writing your answer as a decimal.

035 x W4 = 0B X2 XOF = O0F KOF = 0%

A CHURICONC)

= O.q-
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Question 3

-5

-6

Write down the three inequalities that define the shaded region.
. ef N
[ i'\& u\uVAzJA Lt ove

W > x|
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Question 4

Simplify each of these expressions as far as possible.

@svH-sVIT = 5 [ [y - 8N
57\1{\’\ - g\‘\'\ = \Dm ’8m =2m

- Z2x3 = 2

)

() ~T2-30-20) = — 4% +} —3(01-244)

= —fx —2F 4+ b
.y -7 —~— M skudeats 3o
) wroy here |
Question 5
222 + 92 -5

Simplify fully

Bzx+4)—(x+5)

= (2"—‘)(1'_\-5) = x+5
2z — |\
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Question 6

Work out 9.5 X 10® + 60,200,000, writing your answer in standard form.
+
45 x 0 + 602 % \0
8
=95 %x 10 + 0-602 X 10

= 10.102 X \0'

Q
\. O\02 X \0

Question 7

The first three terms of an arithmetic sequence are:

T8 koo C,Consl'w\k Jicperu\ce, \od’u%t\, col\suukivz EUMS
5 ;

Find the value of z.

(x-8) — ";S = 22-2\ - (x-5)

'X,"S = 1’\6
2
«-9 = Q2x - 32
2+ = x

Check by gubskibubing 2= 2% inko the tems b gk 11, 22,33
These do form e stat of an arbmekc seguence
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Question 8

The diagram shows the lengths, in centimetres, of two sides of a right-angled triangle.

Find the value of p.
ha¥2 )
s (ﬂ R ¥ Z

\
\

4+ 2

p= 30

Question 9

How many faces does an octagonal prism have?

10 foces

Question 10

(a) Write 0.103 as fraction in its simplest form.

Qo x=- 1042 102

lek = =  © 1030363 {9
Thea \00% = 10- 3030303 ... a 7
Gtk x = O \O3030}... - 230 = K

(b) A biased coin has a probability of 0.103 of landing tails side up. If the coin is flipped 330 times,
how many times would you expect the coin to land tails side up?

wewu\laqed:‘ckcwn)mmuphm

Mo 3 2 ‘
165 or 230 6(2 “\L Hf\\& 370 b(l 20 s 34.
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Question 11

The graph shows the distance covered by a cyclist for 6 seconds.

= Zesio Sroaliel\k \\U’b

:: / Mams the speed is

1 HEEHAREEP

Distance s}

On o Jickance - kime

= g aroph,, the grodient
- s Phe speed.
" “Uc, ) e 3(00\*0’\"
: Srorts \\is\r\ ond decrentes
b 2ze0.

Time (s)

Here are four sketches of speed-time graphs. One of these sketches represents the cyclist’s speed
during the six-second period shown on the distance-time graph above. Circle this sketch.

Speed
(m/s)

Speed Speed
(m/s) (m/s)

Time (s) Time (s) Time (s)
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Question 12

Here are sketches of four triangles. The sketches are not drawn to scale. Exactly two of the four
triangles are congruent to each other. Circle these two triangles.

O
10m

ASK

Question 13

This graph shows the amount charged by a plumber for up to 4 hours of work.

Give an interpretation of the gradient of this graph.

Charge?t
(£)
240

/ Crodienk = £l20
180 1 Shbm

£\20 = L0 / he

120

- Tkz graiiu\’c W.QNW"CS
: 1 2 3 —— eoth exkra howe of work
Time (hours) (ac {jef G\ \‘\'\H&\ Q\X.CA
Arocag of 560>
Noke tha Auis is the iokaceph
on Yo veticdl onus.
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Question 14

A group of 40 people are asked whether like tennis, cycling, both, or neither.
1
The probability that a randomly chosen individual likes tennis is T } 8 Pq_b‘)le,

peeple

f the 4 le, 19 said they didn’t like either tenni ling. Lot
Of the 40 people, 19 said they didn’t like either tennis or cycling 'X ‘M WSSV\A Al \DQK

Fill in the three blanks in this Venn diagram.
ovd 6dd v W

) LO-\Q = 2\.

3
The probability that a randomly chosen individual likes cycling is 5 } ‘ S

Stace B ¥\S:=23,

Mhore otk e
e stk
Yeanls od
cycking -
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Question 15

Here are the equations of six curves.

A y=x>-2x+1 D. y=x>-8
B. y=5" E. y=3"
1
C.y=— F. y =sinx
X

Sketches of three of the above curves are shown below.

Match each graph to its equation from the list above.
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Question 16

This cumulative frequency graph shows information about the heights, in cm, of rowers at a rowing
club.

Cumulative
frequency
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X
X
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SS
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Height (cm)

Work out an estimate for the number of these rowers with a height greater than 186 cm.

Thee are T6 cowess in bl -
We edimake bk GBS e up bo \8b kol

S “4b-55 = 2| rowwess  are 5reaker Won
\86 em alk.
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Question 17
OAD and OBC are sectors of circles with centre O.

The points O, A, and B lie on a straight line. Similarly, the points O, D, and C'lie on a straight
line.

OB has length 13 cm and OD has length 12 cm.

&
N

74
ey

Find, in terms of z, the shaded area ABCD in cm”.

hren o sece OBC = ek TTX V3

T2
Area of secee OAN = 3&7('”-)”?- =g "

Sheded ooen  ABCD = g‘ﬂ — MTI’
5
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Question 18

8(¢ +3p)
b

(a) Make p the subject of the formula m =
Qulwrack 249 feom Lot gides

Fodorise ouk P

Dide Loth sides by (m-24)

3 53
(b) Work out the value of p when ¢ = 1 and m = —.

2
Write your answer as a fraction in its simplest form.

Qvbgibke ¢ = 3 ond M= % inbo the Obove:
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Question 19

The diagram shows the points, X, Y, and Z.

The vector XZ = -a —5b Q
- —a—5b
The vector YZ = —4a - 3b
@ is the midpoint of XY. .
Y —4a—3b Z

Find the vector Z() in terms of a and b.

—

—> —>

XY = ARZ *+ 2Y _
-0-Sb + Lat3b Z9 - -
Aa — Qb

—p
NZ
— —>
| —

X + Z| RY B
)

N
o
X
v
ot

= oS + 34 —)
—_— — .L-—- —
= S
7_9.-\’1-\]_9;
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Question 20 ®

The region R contains the set of points within triangle ABC that are closer to A than B and closer
to BC than AB.

Construct and shade in the region R.

cH
s
£

® ()UVUMW
Ysedhos of
(‘?oi:\h b Whe AR
1
lofl of Hre
Une are closer

o A 8
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